Standard error on_mean test error

L —q =]
(We don't Rnow stALc],
0 estunate fm‘\ Jah)
L

Test W T RS Loss on one rondem oxsmple
losses Lm

E[‘—] = Egen, generaliubdn error

P(E&‘)T l’ LT = K
. / % Craussian Etest = -;‘—Zm Lm

(Losses sam pled on
test sob of size M)

3 e Etest
stale]
5y
P For a partiular §itted model,
“Eyn = Eeest ML)
N V)

"¢ Landard erroron the mean"

A mean



UniveriaTe Gavssian ReEMinDER

vr[=1= E[=*] - =1

7 xz/f samples TRANSEORM .
| = X X = :‘?_
Y ) P

g ‘fun—u r X
W‘J‘u M - L._

S Area =1 P(%) ‘ﬁ 262
4[”10;; |h, [ ‘

wer w7 L6 (2)



How raisble o perfrmance
Hw warcatpen '

Or  yarnbilily °
:' FAmss d,‘ﬁw{' atabezateon
loatiog  povit Dm'daéﬂﬂnéws'ﬁ\-

2 : ; | . "'
l 24 Wl >

/Qéi—?

> <
5£A@rm1".

FZ ( EVM )/r\




A B
Q)Es b W"‘“A?
sz'a( CM«}"
o, 8)
D‘ﬁ &(mbm g = Lo L

Sandard error : i‘(‘d ESa
JH

std. emm bar

f e e ffes

O









w2\ & DXD metex
corlx3e5 = E[xax; 1 - Ex] E/x;]
cor[x) = EJxx7] - ELxNEE]T

Xl 1XD

cor[2) = E] (K-ﬂﬁ "]

alyd = ELyy"]
= B[ Ax(A) ]
= L’:_[ALETATE
= AE[xxT]AT
S A P becouse
T =corl2) 242w

:AAT-':Z




POF & u Nlw.02)

4=Ax
I =) \NT/ ") )
ply) < e-/‘(ﬁ LY x=A"y
o T, -1 ~
w HeA Ay Ty
2=AAT
preain: Z—‘: A‘TA-‘
< g 42y
(4)= | hyTZTy
F IAI(Z‘IT)D/Z -t
| A
g >
X's g3

srlume erepces 1’«0 [Al
17] = LAAT] = IAlAT]= |A)T

A= (21" )
| -y g

[le/z (Z“_y/z c



